
１    ３    ４ 
 
６    １    ７ 
 
０    ０    ０ 

上から３つずつ数字が変化していきます。 一番右の数字を予測するルールは何か？ 

予測 



１    ３    ４ 
 
６    １    ７ 
 
０    ０    ０ 
 
１    ０    ３ 

上から３つずつ数字が変化していきます。 一番右の数字を予測するルールは何か？ 

予測 



１    ３    ４ 
 
６    １    ７ 
 
０    ０    ０ 
 
１    ０    ３ 

上から３つずつ数字が変化していきます。 一番右の数字を予測するルールは何か？ 

１＋３＝４ 
 
６＋１＝７ 
 
０＋０＝０ 
 
1＋０＝？ 

予測 



１    ３    ４ 
 
６    １    ７ 
 
０    ０    ０ 
 
１    ０    ３ 

上から３つずつ数字が変化していきます。 一番右の数字を予測するルールは何か？ 

１＋３＝４ 
 
６＋１＝７ 
 
０＋０＝０ 
 
1＋０＝？ 

＝4＋３ 
 
＝７＋３＝１０ 
 
＝０＋３ 

予測 

× 

〇 



④行目は？ 
 
  ① １   ４   ７ 
  ② ２   ５   ８ 
  ③ ３   ６   ９ 
  ④？  ？ ？ 



④行目は？ 
 
  ① １   ４   ７ 
  ② ２   ５   ８ 
  ③ ３   ６   ９ 

① １   ４   ７ 
② ２   ５   ８ 
③ ３   ６   ９ 
④＋  － × 

答え 

？には何が入りますか？ 
  ①１、４、７、？  
 
  ②２、５、８、０  
 
  ③３、６、９、？  


